
TIPI Children Bed 90x200cm
TIPI Lit 90x200cm
TIPI Bett 90x200cm

Designed by BLN Design © 

70 min

I.M. - 04.570 / 1 - 11 / 08 / 02/10/2019

TIPI
junior bed

D
e 

E
ek

ho
o

rn
 D

ut
ch

 F
ur

ni
tu

re
  |

  J
an

 T
in

b
er

g
en

w
eg

 1
  |

  1
6

8
9

 Z
V

  H
o

o
rn

  |
  T

he
 N

et
he

rl
an

d
s

Bewaar deze handleiding • Please save this manual
Bitte bewahren Sie diese Montageanleitung • Merci de garder la notice de montage

1/11



x1

H

A

x8
M6 x 60

x8

B

4 x 30

E

x72
M6 x 30

F

x12 x20

G

I

x20
4 x 45

K

x4x4

J

x36

C

8 x 40

10
9

13

16

10

25

28

15

27

9

26

11

24 23

22
21

x4

11

13

x2
12

12

14
14

29 x13

x4

L

4 x 16

M

x1

I.M. - 04.570 / 2 - 11 / 08 / 02/10/2019

2
2/11



3/11

Sécurité

I.M. - 04.570 / 3 - 11 / 08 / 02/10/2019

3



4/11

Q

21

22
C

CC

C C C

C C C

C
CC 23

24

FRONT PANEL1)

C

C

16

21

22

23

24

25

13

26

14

27 15

28

16

9
10

9

10

11

12

29

11

12

14

15

13

x13

M

24

x14

C

8 x 40

  7
2 m

m  

Q (1 : 4)

I.M. - 04.570 / 4 - 11 / 08 / 02/10/2019

4

1



5/11

13
C

C

13
C

C

R
C

C C

C

C

C
C

C

C

C

C

C 27

25
26

28

BACK PANEL2)

3)

4)

C

C

C

C x2

SIDE PANEL

11
12

x14

C

8 x 40

x4

C

8 x 40

x4

C

8 x 40

  24mm  

R (1 : 2.5)

I.M. - 04.570 / 5 - 11 / 08 / 02/10/2019

5

2

3

4



6/11

13

13

A
A

A
A

A
A

14
B
B

B

B
B
B

A

A
14C

A+H

A

x1

HA

x8
M6 x 60

x8

B

D

BA

A

G G G G G10

9

x2

x2

E
G

x20

G

GGGGG

6)

5)

I.M. - 04.570 / 6 - 11 / 08 / 02/10/2019

6

5

6



7/11

M6 x 30

F

x8 x1

H

x4

J

+9 10

x2

16

16

16

16

J

J

F
F

F
F

F
F

F
F

F+H

J

J

B

L

J

N

O

7)

8)

I.M. - 04.570 / 7 - 11 / 08 / 02/10/2019

7

7

8



8/11

F

F
H

x2
15

BACK PANEL

x1

H

M6 x 30

F

x4

I

I

I

I

I

10)

I

x5

G
I

H

15 H

F

9)

I.M. - 04.570 / 8 - 11 / 08 / 02/10/2019

8

9

10



9/11

I

I

I

I

I FRONT PANEL

FRONT PANEL

I

x5

I

x10

JT

I

4 x 30

E

x20

P

P (1 : 3.5)

M
L

L
LL

x4

L

4 x 16

M

x1

I

I

I

I

I

I
I

I

I

  1014 mm  
  1040 mm  

E

E
E

E

E

E

E

E
E

E
E

E
E

E

M

E

E

E

T (1 : 7)

11)

12)

13)

I.M. - 04.570 / 9 - 11 / 08 / 02/10/2019

9

11

12

13



10/11

14b)

AK
K

4 x 45

K

x4

K

K
K

K

15)

14a)

! CLICK !

I.M. - 04.570 / 10 - 11 / 08 / 02/10/2019

10

14a

14b

15

14b)

AK
K

4 x 45

K

x4

K

K
K

K

15)

14a)

! CLICK !

I.M. - 04.570 / 10 - 11 / 08 / 02/10/2019

10

14b)

AK
K

4 x 45

K

x4

K

K
K

K

15)

14a)

! CLICK !

I.M. - 04.570 / 10 - 11 / 08 / 02/10/2019

10



11/11

E
E E

E

EEE

E
E

E

A

E

17

17

x2

x52

E

4 x 30

OPTION B

100kg
Max.

OPTION A

E E
E E E

EEEE

E
E E E

E

E E E E E E

29 x13

E E E E E E E
EE

E
E E E E E E E

E

A

  +/- 84mm  

E E

16)

17)

I.M. - 04.570 / 11 - 11 / 08 / 02/10/2019

11

17

16


